6TH Grade Math Supporting Standard Items yet to be tested as of 2019
6.5C -  1  (S)	 												Eighty two Z
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6.5C - 1 (S)							 	 	  					Eighty three X
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6.7B – 1 (S)													Ninety eight X 
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6.7B -  1 (S)							U6							Ninety nine Z
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6.7C  - 1 (S)											One hundred Z
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6.7C – 1 (S)    										One hundred one  Y
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6.8B – 3 (S)					 							One hundred eight Y
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6.8B – 3 (S)						
													One hundred nine G
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6.13B – 4 (S)										One hundred sixty two X
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6.13B – 4 (S)					 					One hundred sixty three Y
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6.14A – 4 (S)											One hundred sixty four W
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6.14A – 4 (S)					 						One hundred sixty five X
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6.14F – 4 (S)  										One hundred seventy four Z
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6.14F – 4 (S)										One hundred seventy five X
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8 Which of the following expressions is equivalent to (@+4-7)" 2
2
F 3(2°+4)
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12 Which two expressions are equivalent?
F (&-4) 5.0 2(3+4)
3 2
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1 The parallelogram below was made by joining two identical trapezoids.

Which of the following formulas can be used to model the area of one of the trapezoids in the
parallelogram?

A A=1(12+12)3
B A=1(12)s

€ A=1(12)3

D A=

1(12+12)6
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9 Triangle ABC is shown below.

‘Which of the following is the best model to find the area of Triangle ABC?
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6 Which situation would yield data without variability?

F

G
H
J

The annual average salary of a company employees over 10 years
The number of goals scored by the local team in their first game
The highest daily temperatures for the last 2 weeks

The math test grades for a single class of students
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12 Which situation yields data with variability?

F The distance covered by different vehicles traveling at a constant rate of 60 miles per hour
for 45 minutes

G The length of different professional American football fields
H The weight of 6th grade students

J The moon cycle duration in a year




image15.png
10 Mark needs to open a bank account to get a debit card so he can withdraw cash and pay for
online transactions. The table below shows some fees that different financial institutions charge
for services related to this type of account.

Bank Service Fees for Debit Card Usage

Name [Lost Card ReplacementiCash Withdrawall
Park Bank $6.80 Free
illage Ban $15.00 $3.00
reat Bank Free $1.50
Il Bank $10.00 Free

Based on the information given in the table, which financial institution should Mark use to get a
debit card to withdraw cash?

F Park Bank
G Village Bank
H Great Bank
J Al Bank
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13 Laura is an 18-year-old student. She is going to open a checking account with an initial deposit
of $100. She plans to then have a $300 average daily balance each month. The cost of
checking accounts at several financial institutions is shown in the table below.

Checking Account Costs

um
Bank Name to Open Monthly Fee
Account

$10 or
$0 with $1,500 minimum daily
Bank Right balance or
$5 discount if primary account holder
is between 17-24 years old

$8.95 or
People’s Bank $0 with $1,000 minimum daily
balance

$13 or
$0 with $500 minimum daily balance
$12 or

City Bank $0 with $1,500 minimum daily
balance

State Bank

Based on the information in the table, which financial institution would be the better choice for
Laura when opening a checking account?

City Bank, because the minimum deposit to open it is $25.
People’s Bank, because the monthly fee is $8.95.

Bank Right, because the monthly fee is $5 for Laura.

o0 w >

State Bank, because the monthly fee is $0 with $500 daily balance.
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7 Which statement does NOT describe a value of a credit report to a lender?

A

B
c
D

The lender may determine a consumer's financial risk.
The lender can share information about a consumer’s credit.
The lender can check the payment history of a consumer.

The lender can change a consumer’s credit rating depending on their age.
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11 Which statement describes a value of a positive credit report to a borrower?

A

B
c
D

Having extended periods to pay off a loan
Getting lower interest rates when applying for a loan
Getting discounts when you buy expensive items

Making an extra payment on a credit payment schedule
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7 At the end of the school year, Manny’s class had a pizza party. The strip diagram below shows
the number of pizzas left after the party.

1 whole

VAN

Which of the following is equivalent to the number of pizzas left after the party?
A 0.125

B 11.8

C 1.38%

D 137.5%
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11 The school spirit club ordered shirts to sell as a fundraiser. The model below shows the percent
and decimal of the shirts they ordered that were blue.

100% —T1—

50%

12.5%

0%

Which of the following represents the fractional portion of the order that was blue shirts?
A 1
12

B 1
8

c 125
10

D 125
100
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2 Which of the following is an equation?
F 8x
G 8 =2
H 8x-5
3 8

x
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11 Which statement is true about all expressions?

A

B
c
D

All expressions contain only numbers.
All expressions are mathematical statements with an equal sign.
All expressions contain variables.

All expressions are mathematical phrases with no equal sign.
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